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PRINCIPLES OF ECONOMICS HSSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A Is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option l.e. A/ B/ C / D. Each part carries one mark.

(i

(i

(iii)

(iv)

v)

(vi)

(vif)

{viii)

(ix)

(xi)

(xii)

(xiii)

(xiv)

(xv)

Who considered economics as a “Science of Wealth"?

A Adam Smith  B. Marshall C. Robbins D. Canon

Which law provides a basis for the “Law of Demand™?

A Law of supply B. Law of Diminishing Marginal Utility

C. Law of Equi marginal Utiiity D. Law of Increasing Returns

If price of a product falls by 10% and its demand rises by 30%. The elasticity of demand will be:
A 10% B. 30% C. 3% D. 1/3%

Supply of perishable goods is:

A Less elastic B. More elastic  C. Perfectly inelastic D.  Perfectly elastic
Free gift of Nature to human beings is:

A Land B. L.abour C. Capital D. Organization
The “Law of Variable Proportions” is presented by:

A Marshall B. Keynes C. W.J.L Ryan D. Pigou

A firm aftains equilibrium under perfect competition where:
A MC=MR=AR B. MC=MR<AR C. MC=MR>AR D. MC>MR>AR
Marginal Revenue Product (MRP) curve is called:

A Demand curve of a firm B. Demand curve of an industry

C. Suppiy curve of a firm D. Supply curve of an industry
Expenditures on wear and tear of machines are called:

A Productive expenditures B. Unproductive expenditures

C. Rewards D. Depreciation allowance

The metallic money whose face value and intrinsic value are equal, is calied:

A Token metallic money B. Standard metaliic money

C. Paper money D. Credit money

The co-relation between the value of money and the quantity of money is:

A Direct B. Indirect C. Inverse D. Positive

in which phase of trade cycle, level of employment and income become very iow?

A Depression B. Recovery C. Boom D. Recession
Which factor DOES NOT provide the basis for intemational'trade?v

A Difference in climatic conditions B. Difference in natural resources

C. Difference in Technical know-how D. Difference in population rate

Tax on cigareties is a

A Direct tax B. Indirect tax C. Proportional tax D. Progressive tax
Taxes are paid by everyone, but Zakat is paid by:

A Muslims B. Hindus C. Christians D. Budhists

For Examiner’s use only:

Total Marks: 15

Marks Obtained:
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(ii}
{iif)

(iv)

(vi)
(vii)
{viii)

(%)

)

(xi)
(xii)
(xiii)
(xiv)

(xv)

Eny

A



Time allowed: 2:40 Hours

36

PRINCIPLES OF ECONOMICS HSSC-

NOTE:

Total Marks Sections B and C: 60

Answer any nine parts from Sectlon ‘B’ and any two questions from Sectlon ‘C’ on the separately
provided answer book. Use supplementary answer sheet l.e. Sheet-B If required. Write your
answers neatly and legibly.

Q.2

Note:
Q.3
Q.4
Q.5

SECTION — B (Marks 36)

Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines.

(i)

(if)
(iii)
(iv)

(v)
{vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)

How did Marshall define Economics?

Write down the consumer’s equilibrium in the form of equation / formuia.
Define 'supply’.

Look at the following diagram and answer.

Dia

F
D

What will be elasticity of demand at points A, B, C, E, F on ‘DD’ demand curve?
Write down any four characteristics of labour.

Define total fixed cost.

Define Monopoly.

Define Gross National Product (GNP).

Write down Fisher's equation of exchange.

Write down the phases of trade cycle.

What is meant by intemational trade?

Who are the beneficiaries of Zakat?

SECTION - C (Maris 24)

Attempt any TWO questions. All questions carry equal marks.

- (9x4=36)

(2x12=24)

Explain the "Law of Demand” with the help of schedule and diagram. Also write down its Assumptions.

Explain the “Law of Diminishing Returns” with the help of schedule and diagram. Is its application universal?

Describe the difficulties in the measurement of National income.
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(i

(xi)

(xii)
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